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» | < g pymok pymok
wiywmbGnmuiGtpp g
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ouuUtLLe SUUGR 641,528.9 570,228.9 71,300.0
LULAULAM ALARSER LULLUBRL
2100|101 0 [ O SUNUBNRE3NKLLED 162,585.8 157,685.8 4,900.0
wyjn pynui”
OptGiunhn L qopownhp dwpdhG6tp, whnwlul junuojupnid,
21101 01 | 1 0 |phGwlGuwlulb L hwplupymebmuighG hupwpbpmpymGGLp, 158,585.8 153,685.8 4,900.0
wpumuwphl hupupbpmpymGGhp
nphg'
21111 01 | 1 1 [OptGunhp L gnpownhp dwpdhGabp,wbnwlwl junwjupnid 158,585.8 153,685.8 4,900.0
wyn pynud”
1. GwpunJwpdwl JwpdGh upuhujwGnid 158,585.8 153,685.8 4,900.0
-UpfuwwnnnGiph wpluwnwywpdbip W hwybwyswpGtp 4111 93,340.0 93,340.0 -
- MupqlwwnpniiGtp, ngpuwiwyul ppwunundGlp bW hwonnty 4112 9,334.0 9,334.0 }
J&wpGtip
-Unghwjuywl wywhnynipjub yGwnpltp 4131 16,732.0 16,732.0 -
-EGtpgbnhy ownwympymGGtp 4212 7,670.0 7,670.0 -
-UniintGw) dwnwjnipniGGtp 4213 1,050.0 1,050.0 -
-GQuuwh ownwjmpyntGGtp 4214 6,272.8 6,272.8 -
-Qnyph L uwppwynpnuiGnh Jupdwwimpjni 4216 1,380.0 1,380.0 -
-Upnwuwhiwbjub gnpomnnmuiGph qony owfuubip 4222 2,000.0 2,000.0 -
-Stntjwwnulwb dwnwjnipniGGtp 4234 360.0 360.0 -
-“Lhpjujugnigswliwl dwhuutip 4237 1,500.0 1,500.0 -
-UtiptGuGtiph L uvwppwynpnuiGliph pGpwghl Gnpngnid L 4252 3,300.0 3,300.0 )
wwhww Gnud
-QnuubiGyuywjhG Gupbp L hwgniuwn 4261 2,272.0 2,272.0 -
-SpwGuwnpuwyhG Gynipbp 4264 6,600.0 6,600.0 -
-UtigunujhG L hwGpwjhG uGGnh Gyniptp 4267 1,270.0 1,270.0 -
-Uj1 dwfuubip 4861 605.0 605.0 -
- Jwpswlwl vwppwynpmiGbip 5122 4,900.0 - 4,900.0
2160l 01 | 6 0 LGphwbnip pnyph hwlpwihlG ownuynipniGGap (wy] 4,000.0 4,000.0 )
nuiubph@ sujunnfuiling)
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2161] 01| 6 1 Canhwlnp pnyph hwlpwghl SwnwympymGatp (w) puubphG 4,000.0 4,000.0 )
sywwnjwlng)
wyn pynud”
1. FpdmdGhp, hwjgunhdnidGep, nunwpwGh npnynidGaph L
Ghph nbd JbpupGGhs L Jdpwpk Gt 2,000.0 2,000.0 -
GhplwiugGbipu vwhdwGju o Jownpniyakh,
-Muwpuwnhp YdwplGbp 4823 2,000.0 2,000.0 -
2. Qmypp Ghunndwdp hpuyniGpGhph qpuGguul L B
wbnbywumpyul mpudwppiul hbwn juwydwo JowpmiyGh 2,000.0 2,000.0
-UwuGwghnwlwl dwnwjnipynGGtp 4241 1,000.0 1,000.0 -
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-Muwpumuwnhp yGwplbn 4823 1,000.0 1,000.0 -
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wyn pymd’
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dYyGnpunpyni G L npunpnnipym G
nphg'
24211 04 | 2 | 1 [QymnuumGubtunipym 600.0 600.0 -
wyr pynid”
1. @myunlGumbuwlub jhGnubhah, unnywuwnnif 600.0 600.0 -
-Uwulwghnwlwl dwnwjnipjmGGtp 4241 600.0 600.0 -
2450{ 04 | 5 | O [Spwluwynmn 42,000.0 42,000.0 -
nphg'
24511 04| 5 1 |GwGwwywphwjhG mpwGuwynpun 42,000.0 42,000.0 -
wyn pynud”
1. Uupwn-pbwnljw owolh Jbpuln 1df L wpwhupuGnid 40,000.0 40,000.0 -
-Chliptiph L YwnnygGtph pGpwghy Gnpngnid L wyjwhww Gnud 4251 40,000.0 40,000.0 -
3. bqpuipwpliph Jbpwnpngmy 2,000.0 2,000.0 -
-Chliptiph L YwnnygGtph nGpwghy Gnpngnid L wjwhww Gnud 4251 2,000.0 2,000.0 -
2500|105 0 [ O crRUGUU UhQUJUSC,Hh MUCSNULNRME3NFL 137,370.0 137,370.0 -
wyn pynud”
2510{ 05 | 1 0 |Uppwhwlmy 84,270.0 84,270.0 -
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25111 05 | 1 | 1 [Unpwhw6nui 84,270.0 84,270.0 -
wyn pymd’
1. Uwhmupumlwl dfwppny 84,270.0 84,270.0 -
-UnintGw) dwnwynipjniGGtp 4213 84,270.0 84,270.0 -
a560| 05 | 6 | o |Crewlm thewywph yupmupumbnpms (wy puubphl 53,100.0 53,100.0 -
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2561l 05 | 6 | 1 |Cnowlw dhewyuwynh wwowmwyuwbnipyniG (wji pwubphG 53.100.0 53,100.0 .
sywwnjwlng)
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1. Qubws nmupuoplGbph wpuhwwGnif 52,500.0 52,500.0 -
-UnintGw) dwnwynipjniGGtp 4213 52,500.0 52,500.0 -
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2. UnnmwhwGiw( L shounnugbpotwl ownuwinipim GG 600.0 600.0 }
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-UniniGw) ownwynpjniGGtp 4213 600.0 600.0 -
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LlwlumubuhG phGumupnipyul L ndniGuy )
2660| 06 [ 6 [ O wympymAGky () puubphfl suunnlutn) 50,000.0 50,000.0
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26611 06 | 6 ! ownwjnipjniGGtp (wj) nuubphG swwwnljwing) 50,0000 50,0000
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1. Puqiwplwjwpwi 266pbph hupp wwGfpGbph
1. Puquwplwlwmul p4Gptph hwpp nmwGhpll; 50,0000 ) 50,000.0
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- Chiliptiph L 2hGnipyniGhbph yuwuhnwy Yepwlnpngnud 5113 50,000.0 - 50,000.0
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28101 08 | 1 0 |<wlquuip L uynpinp dwnwympymGGap,nphg” 3,000.0 3,000.0 -
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28111 08 | 1 1 (Qulquunp L uynpnh SwnwynipjniGGatp 3,000.0 3,000.0 -
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1. UynmnwihG dhongupndGhph Juquwibpuynid 3,000.0 3,000.0 -
-Ranhwlmp pGnyph wy ownwjmpjmGGatp 4239 3,000.0 3,000.0 -
2820] 08 | 2 0 |UpwympwhG ownwinipymGGhn 20,147.5 20,147.5 -
nphg’
2821| 08 | 2 1 [(QpunupuGGbp 8,147.5 8,147.5 -
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1. Qpuwnupubwihl Swnwinipin GGap 8,147.5 8,147.5 -
-Unipupnhw(bp ng phwluwlub yhmwlub (hwdw)lpuwjhG) )
Yuiqiwltnunipn Gakpht 4511 8,147.5 8,147.5
28241 08 | 2 | 4 |Uj Wywlympwjhl juqiwuybpuympiniGGbp 12,000.0 12,000.0 -
wjn pynid”
1. Upwlmpwjhl dhongupmuGbph ppwlwlGwgniy 12,000.0 12,000.0 -
-CanhwGnip pGnyph wy ownwympjniGGtp 4239 12,000.0 12,000.0 -
2900( 091 O 0 YrEeNkrE3NFL 205,811.0 189,411.0 16,400.0
wjn pynid’
29101 09 | 1 0 |(vwfuwnpypngwlwb L mwppwiwi pphwinp Yppmpim G 161,250.0 144,850.0 16,400.0
nphg’
29111 09 | 1 1 [Vwhiwnwpnguyw6 Yppnipynil 161,250.0 144,850.0 16,400.0
wyr pynid”
1. VwluwnupnguljuG niunigmy 136,800.0 136,800.0 -
-UnipuhnhwGbp ng hGwGuuul yhmwywb (hwdw)jGpwjhl) 4511 136,800.0 136,800.0 )
JuquwytpynipniGGtphG
2. bwuwnupnguljw G numgdwl Juqiwbpuydwl hudwn
wibmudbrm anph dbnppkanud 24,450.0 8,050.0 16,400.0
-UtlGgunuwjhG L hwGpwjhG uGGnh Gyniptp 4267 8,050.0 8,050.0 -
- Jwpswiwl vwppwynpmiGhn 5122 16,400.0 - 16,400.0
29501 09 | 5 0 (Pum dwhwpnulGhph spunwipupging GppnipniG 44,561.0 44,561.0 -
nphg’
29511 09 | 5 1 (Upnwnupnguiwl nuumhwpwlynipjniG 44,561.0 44,561.0 -
wyn pynud”
1. Upmuwnpupnguiljul nuumpwpwynipin § 44,561.0 44,561.0 -
-Unipupnhwbp ng phwluuub yhmwul (hwdw)ipwjhG) 4511 44.561.0 44,5610
JuquiwybpynipniGGaphG
3000( 10| O 0 UNshuLULGUL NMUCSNULAMO3NFL 20,014.6 20,014.6 -
wyn pynud”
3070] 10 | 7 0 Unghwjwljw hwwnmly wmnnlGmpymGGhp (wyy quubphl 9,000.0 9,000.0 )
syunnljwGnng)
nphg'
s071| 10| 7 1 Unghwjwlw6 hwnnty wpunnGnipyniGGabp (wy) nuubphG 9,000.0 9,000.0 )
swywwnlwing)
wyn pynud”
2. Swpwiquun s G wlidwlg L unghwiwubu wlwupwhn
GunwGhpGlinh hwdwp hnipuipYunpopiwG Gwquwbpynd 20000 20000 i
-CGnhw(nip plniyph wy SwnwynipjniGitp 4239 2,000.0 2,000.0 -
,
3. Unghwjwwybu wlwujwhm] pGunwGhpGEphG mnGulwl 2.500.0 2.500.0 )
opbphl wowlignipim @
-Qnyph L vwppwynpnudGhph Jupdwlwnpntl 4216 300.0 300.0
-Qwwnnily GuuwunwyuyhG wy Gyniptp 4269 1,200.0 1,200.0
-Uj1 GuuwuwnGlp pynigtihg 4729 1,000.0 1,000.0
4. Unghwjwubu wlwujwhm] widwbg wowlgnipiniG 4,500.0 4,500.0 -
-Uj1 GuyyuwuwnGbp pjnigtihg 4729 4,500.0 4,500.0 -
3090| 10 | 9 | O |Unghwpwhwé vywpmuyubnpinl (wy quubphl syunnljwlng) 11,014.6 11,014.6 -
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30911 10 | 9 1 (Unghuyuywl wuwpwmwywlnipniG (wj) nuubphl syunyuing) 11,014.6 11,014.6 -
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1. Unghwjwlwl oqglinmpnul dwnwinipjmGGh
Om Gmp G Juquubpuymd (wuwuhpulpjud 11,014.6 11,014.6 -
1hugnpnipimGG6bp)
-Upfuwwnnn Giph wpluwnwywpdbn L hwgbwyswpGbp 4111 8,720.3 8,720.3 -
-Unghwjuwl wwywhnynipjwb ydwpGbp 4131 1,727.9 1,727.9 -
-EGtpgtnhly ownwjmpyniGGtp 4212 212.1 212.1 -
-GQuuwh ownwjmpjntGGtp 4214 104.3 104.3 -
-QGpuutifyuluwyhG Gyniptp L hwgniuwn 4261 100.0 100.0 -
-SpwuwnpuwjhG Gymphp 4264 150.0 150.0 -




